PLOT DATE

BUILDING CODES:

ALL CONSTRUCTION SHALL COMPLY WITH THE

REQUIREMENTS OF ANY AND ALL APPLICABLE
STATE, COUNTY AND LOCAL BUILDING CODES

OR REGULATIONS INCLUDING BUT NOT LIMITED

TO THE FOLLOWING:

- INTERNATIONAL RESIDENTIAL CODE (IRC)
AS ADOPTED AND/OR AMENDED BY LOCAL
MUNICIPAL AUTHORITY

14'-5%" FOOTING / POST CENTERS

- A

14'-5%" FOOTING / POST CENTERS

7"x7" PT WOOD POST (TYP.)

CONCRETE FOOTING
AT EACH POST LOCATION

14'-5%" FOOTING / POST CENTERS

Tuesday, June 30, 2020

FOUNDATION / POST LOCATION PLAN

ENGINEERING NOTE:

THERE HAS NOT BEEN ANY STRUCTURAL,
MECHANICAL, ELECTRICAL OR SITE
ENGINEERING PERFORMED FOR THIS PROJECT.
IT SHALL BE THE RESPONSIBILITY OF OTHERS
TO OBTAIN DESIGN DATA FROM A LICENSED
ENGINEER FOR THESE SYSTEMS.
ENGINEERING SHALL CONFORM WITH ALL
APPLICABLE LOCAL AND/OR STATE BUILDING
CODES AND REGULATIONS.

CONSTRUCTION NOTES:

-ALL WOOD TO BE PRESSURE TREATED SP #2,
ORAS NOTED

- ALL ROOF BOARDS SHALL BE SECURED WITH
(3) 11/4" x 7/16" CROWN STAPLES AT EACH
FRAMING MEMBER

-ALL RAFTERS TO BE ATTACHED TO PLATES w/
(5) 2 3/8" RING SHANK NAILS. INSTALL (1) SIMPSON A23Z
ANGLE AT EACH RAFTER

- ALL HARDWARE TO BE GALVINIZED, POWDER-COATED
OR STAINLESS STEEL, OR AS NOTED

- ALL CONCRETE TO BE MINIMUM 3500 PSI

(1) SIMPSON CS14 17" STRAP- CUT TO 32" LENGTH.
ATTACH STRAP EVENLY ACROSS OUTSIDE FACE OF
2x6 RAFTER PLATE, AT CORNERS AND SPLICES.
ATTACH STRAPS WITH 10d NAILS.

\

I POST BELOW (TYP.)

14'-5%" FOOTING / POST CENTERS
17'-0%" ROOF OVERALL

1
20" i 20"
1 f |
I [ I\ ™ (2) 2x6 PT RAFTER PLATE
\.
||
T~ 2x6 PT RAFTERS @ 24" O.C.
.\\-
i — 2x6 PT COLLAR TIES @ 48" O.C.
l(z) 2x8
RIDGE
BEAM

17'-0%" ROOF OVERALL

ROOF FRAMING PLAN

i

e W X

ezl /7_ G )
www.CREATIVEGAZEBOS.com

SITE LOCATION:

16' x 16' KEYSTONE GABLE PAVILION

DATE 6/30/2020 SCALE 1/4"=1-0" U.N.O.
REVISIONS P.N. 10 -27
SHEET NO. 10OF 2




(2) #8 x 2" SS WOOD
SCREWS EACH WAY

HEADER
4 2a S 30 \I(RﬁATSP;-IALT
] -YR.
1" x 3% —;/ Q) SHINGLES
EACE L1 3/8" DIA. GRK RSS SCREWS w/
BOARDS —<\ 3" EMBEDMENT INTO HEADER
ONE SCREW r - ! —*— 1 T 1 T 1 —1— T —1— T ——1— 1 —T1— 1 —T1— T —T1_ 1
—H EACH SIDE
= 3/8" DIA. GRK RSS SCREWS w/ 10"
2 3" EMBEDMENT INTO POST
O [ALL #10 x 214" SS WOOD,
\ SCREWS (U.N.O.) WOOD BRACE
TYP.)
N (
TYPICAL BRACE 0
H
FASTENING DETAIL &
~
SCALE: 1/2" =1'-0"
STANDARD WOOD
BASE TRIM (TYP.)
- TOP OF CONCRETE ||
_[—1  rFoorinGLINE ) ) . .

(6) #10 x 3" SCREWS TO
ATTACH OUTSIDE 2x10 TO POST

NOTE: OUTSIDE 2x10 HEADERS
BEAR ON NOTCHED POST

1 1%" MIN. BEARING FOR

INSIDE (2) 2x10's

(3) #10 x 3" SCREWS ~

"TOENAILED" HEADERS LAMINATED w/

(2) #10 x 2%" SCREWS @ 16" O.C.
(6 TOTAL SCREWS AT EACH
LOCATION)

(3) 2x10 HEADER

HEADER TO POST CONNECTION DETAIL

TO RECEIVE HEADERS

\ |

7"x7" POST NOTCHED
17" ALL AROUND AT TOP /

1

SIDE ELEVATION

7"x7" PT WOOD POST
11 GA. STEEL POST L-BRACKET

30-YR. ASPHLAT SHINGLES
1x6 PT T&G ROOF DECKING

2x6 PT RAFTERS @ 24" O.C.-
ATTACH RAFTERS TO PLATE w/
(5) 2%" RING SHANK NAILS (MIN.)

(1) SIMPSON A23Z ANGLE
AT EACH RAFTER

DRIP EDGE

FASCIA BOARDS
(2) 2x6 PT RAFTER PLATE- ——

10"

37/8"x 5" LAMINATED
FRAMING IN OPEN GABLE

7

ATTACHED TO HEADER w/
5/16" x 52" LAG
SCREW @ 16" O.C.

(3) 2x10 PT HEADER

7"x7" PT WOOD POST—/

STEEL L-BRACKETS TO ATTACH
POST TO CONCRETE FOOTING;
USE (4) PER POST

(SEE CONCRETE FOOTING DETAIL)

7-2"t

! TOP OF CONCRETE FOOTING LINE |

END ELEVATION

10"

(2) 2x8 RIDGE BEAM

X 7-11"

L 2x6 COLLAR TIES
@ 48" O.C. (3 TOTAL)-
ATTACH AT EACH END
w/ (6) 3" SCREWS

72"t

14'-57%" POST CENTERS

12'-0" +

_'AV'_

7'-11" POST HEIGHT

TOP OF CONCRETE FOOTING LINE  _

CROSS SECTION

18" DIA. CONCRETE (4 TOTAL PER POST)
SCALE: %" = 1'-0" FOOTING (TYPICAL #10x 2" S.S. SCREWS
11 GA. STEEL AT EACH POST (6 TOTAL PER BRACKET)
POST L-BRACKET LOCATION) = 1/8" THICK STAINLESS STEEL
(4 TOTAL PER POST \ PLATE BETWEEN BOTTOM OF
A AR POST AND CONCRETE
> ; 815 o2 5 W %" x4% cONCRETE
" 7 wao e g Yey WEDGE ANCHOR EMBEDDED
23 | Aa 3%" MIN. INTO CONCRETE
w7 = 2|z o °
77" PT s~ A 3153 | . s .
WOOD POST D
o|w m dA & OA K
TOP VIEW &4 4
8|25 |a . A
11 GA. MILD STEEL Zy ,
. POWDER-COATED ANGLE el NI
A2 < o b g b
HOLES FOR (6) #10 x 24" S.S. x|l a e
>~ ¢/ SCREWS TO ATTACH TO POST S La Aa
gL
s ° 18" DIA.
N
3 /l/ ELEVATION VIEW
7%\ HOLE FOR 12" DIA. x 4%' CONCRETE CONCRETE FOOTING DETAIL
WEDGE ANCHOR EMBEDDED 3%" (MIN.) SCALE: %" = 1'-0"
INTO CONCRETE
STEEL L-BRACKET DETAIL
NO SCALE

PLOT DATE Tuesday, June 30, 2020

www.CREATIVEGAZEBOS.com

SITE LOCATION:

16' x 16' KEYSTONE GABLE PAVILION

DATE 6/30/2020

SCALE 1/4"=1-0" U.N.O.

REVISIONS

P.N. 10 -27

SHEET NO. 2OF 2




	16x16 Keystone Gab Pav 7x7 posts 12in oh 1 (As-Built Shop Drawing) 6-30-20
	16x16 Keystone Gab Pav 7x7 posts 12in oh 2 (As-Built Shop Drawing) 6-30-20

